Chapter 12

Solutions to Exercise 1 – 6 

See Chapter text for answers

Solution to Exercise 7(a)


 Sharpe Measure (Rank)

               Treynor Measure (Rank)
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Solution to Exercise 7(b)

Sharpe measures excess return per unit of total risk, Treynor excess return per unit of beta risk. The Sharpe ratio assumes the investment is stand-alone.  The Treynor ratio assumes the investment is held as part of a diversified portfolio. 

Solution to Exercise 7(c)

Investors are not risk-return efficient if they hold one investment and so the Treynor measure is theoretically better, although harder to measure than the Sharpe ratio.

Solution to Exercise 7(d)

A  =
19 –1.5 (13 – 9)
=  13%

B  =
17 – 0.5 (13 – 9)  
=  15%

C  =
21 – 1.0 (13 – 9)  
=  17%

D  =
15 – 0.5 (13 – 9)
=  13%

E  =
25 – 2.0 (13 –9)
=  17%

The Jensen measure compares the performance of the investment with that of an alternative investment which is a fully diversified portfolio with the same beta.
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